

## Exercises

$$\begin{aligned} 7.1] \quad [H_0, a_k^\dagger] &= \int d\tilde{p} \omega_p [a_p^\dagger a_p, a_k^\dagger] = \int d\tilde{p} \omega_p \left( a_p^\dagger [a_p, a_k^\dagger] + \underbrace{[a_p^\dagger, a_k^\dagger]}_{=0} a_p \right) = \omega_k a_k^\dagger \\ [H_0, a_k] &= \dots = -\omega_k a_k \end{aligned}$$

$$\frac{d}{dt} \varphi = i \frac{d}{dt} \int d\tilde{k} \left( \underbrace{-a_k \omega_k e^{-ikx}}_{=[H_0, a_k]} + \underbrace{a_k^\dagger \omega_k e^{ikx}}_{=[H_0, a_k^\dagger]} \right) = i [H_0, \varphi]$$

$$\begin{aligned} 7.3] \quad H_S &= \underbrace{\frac{p^2}{2m} + \frac{k}{2} X^2}_{H_{0S}} + \underbrace{\varepsilon X^4}_{H_{IS}} \rightarrow H_I = e^{iH_{0S}(t-t_0)} H_{IS} e^{-iH_{0S}(t-t_0)} = \\ &= \varepsilon \cdot e^{iH_{0S}(t-t_0)} X^4 e^{-iH_{0S}(t-t_0)} = \varepsilon \cdot X_{free}^4 \end{aligned}$$

$$7.4] \quad \mathcal{L}_I = -e : \bar{\psi} \mathcal{K} \psi : = -H_I$$

$$\Rightarrow S = T \left\{ \exp \left( -i \int d^4x H_I \right) \right\} = T \left\{ \exp \left( -ie \int d^4x : \bar{\psi} \mathcal{K} \psi : \right) \right\}$$

### 7.6] Théorème de Wick pour 3 fermions

$$\psi_1 \psi_2 = :\psi_1 \psi_2: + \underbrace{\psi_1 \psi_2}$$

On choisit:  $t_3 < t_1$  et  $t_3 < t_2$

$$\begin{aligned} \psi_1 \psi_2 \psi_3 &= (:\psi_1 \psi_2: + \underbrace{\psi_1 \psi_2}) \psi_3 = \underbrace{:\psi_1 \psi_2:}_{\text{+}} \psi_3^+ + \underbrace{:\psi_1 \psi_2:}_{\text{-}} \psi_3^- + \underbrace{\psi_1 \psi_2 \psi_3} \\ &= :\psi_1 \psi_2 \psi_3^+ : \end{aligned}$$

$$:\psi_1 \psi_2: \psi_3^- = \underbrace{\psi_1^+ \psi_2^+ \psi_3^-}_{\textcircled{1}} + \underbrace{\psi_1^- \psi_2^+ \psi_3^-}_{\textcircled{2}} - \underbrace{\psi_2^- \psi_1^+ \psi_3^-}_{\textcircled{3}} + \underbrace{\psi_1^- \psi_2^- \psi_3^-}_{= \psi_3^- \psi_1^- \psi_2^-}$$

$$\begin{aligned} \textcircled{1} &= \psi_1^+ (-\psi_3^- \psi_2^+ + \{\psi_2^+, \psi_3^-\}) = -\psi_1^+ \psi_3^- \psi_2^+ + \psi_1^+ \{\psi_2^+, \psi_3^-\} = \\ &= (\psi_3^- \psi_1^+ - \{\psi_1^+, \psi_3^-\}) \psi_2^+ + \psi_1^+ \{\psi_2^+, \psi_3^-\} = \\ &= \psi_3^- \psi_1^+ \psi_2^+ - \underbrace{\psi_1^+ \psi_3^- \psi_2^+}_{\text{+}} + \underbrace{\psi_2^+ \psi_3^- \psi_1^+}_{\text{+}} \end{aligned}$$

$$\begin{aligned} \textcircled{2} &= \psi_1^- (-\psi_3^- \psi_2^+ + \{\psi_3^-, \psi_2^+\}) = -\psi_1^- \psi_3^- \psi_2^+ + \psi_1^- \{\psi_2^+, \psi_3^-\} = \\ &= \psi_3^- \psi_1^- \psi_2^+ + \psi_1^- \underbrace{\psi_2^+ \psi_3^-}_{\text{+}} \end{aligned}$$

$$\textcircled{3} = \psi_3^- \psi_2^- \psi_1^- - \psi_2^- \underbrace{\psi_1^+ \psi_3^-}_{\text{+}}$$

$$\Rightarrow \psi_1 \psi_2 \psi_3 = \psi_3^- \underbrace{(\psi_1^+ \psi_2^+ + \psi_1^- \psi_2^+ - \psi_2^- \psi_1^+ + \psi_1^- \psi_2^-)}_{=:\psi_1 \psi_2:} + :\psi_1 \psi_2: \psi_3^+$$

$$\begin{aligned} &+ \underbrace{\psi_1 \psi_2 \psi_3}_{\text{+}} - \underbrace{\psi_1 \psi_3 \psi_2^+}_{\text{+}} - \underbrace{\psi_1 \psi_3 \psi_2^-}_{\text{+}} + \underbrace{\psi_2 \psi_3 \psi_1^+}_{\text{+}} + \underbrace{\psi_2 \psi_3 \psi_1^-}_{\text{+}} \\ &= :\psi_1 \psi_2 \psi_3: + \underbrace{\psi_1 \psi_2 \psi_3}_{\text{+}} - \underbrace{\psi_1 \psi_3 \psi_2}_{\text{+}} + \underbrace{\psi_2 \psi_3 \psi_1}_{\text{+}} \end{aligned}$$

$$\Rightarrow T\{\psi_1 \psi_2 \psi_3\} = :\psi_1 \psi_2 \psi_3: + \underbrace{\psi_1 \psi_2 \psi_3}_{\text{+}} - \underbrace{\psi_1 \psi_3 \psi_2}_{\text{+}} + \underbrace{\psi_2 \psi_3 \psi_1}_{\text{+}}$$

$$\begin{aligned}
 \underline{7.71} \quad \mathcal{F}(x, y) &= : \bar{\psi}(x) \gamma^\mu \psi(x) A_\mu(x) \bar{\psi}(y) \gamma^\nu \psi(y) A_\nu(y) : \\
 &+ : \bar{\psi}(x) \gamma^\mu \psi(x) \overbrace{A_\mu(x)} \bar{\psi}(y) \gamma^\nu \psi(y) A_\nu(y) : \\
 &+ \dots
 \end{aligned}$$

$$\begin{aligned}
 &= : \bar{\psi}_\alpha(x) \gamma^\mu_{\alpha\beta} \psi_\beta(x) \bar{\psi}_\gamma(y) \gamma^\nu_{\eta\zeta} \psi_\zeta(y) : A_\mu(x) A_\nu(y) \\
 &+ i : \bar{\psi}_\alpha(x) \gamma^\mu_{\alpha\beta} S_F(x-y)_{\beta\eta} \gamma^\nu_{\eta\zeta} \psi_\zeta(y) : A_\mu(x) A_\nu(y) \\
 &+ \dots
 \end{aligned}$$